Формулы сокращенного умножения
	Преобразование в многочлен
	Разложение на множители

	(a+b)2=a2+2ab+b2=(-a-b)2
(a-b)2=a2-2ab+b2=(b-a)2
	a2+2ab+b2 = (a+b)2
a2-2ab+b2 = (a-b)2

	1) (x+9)2=x2+2∙x∙9+92=x2+18x+81

2) (2x-3y)2= (2x)2-2∙2x∙3y+(3y)2=4x2-12xy+9y2
3) (-7-y3)2=(7+y3)2=49+14y3+y6
4) (-3a+b4)2= (b4-3a)2=b8-6ab4+9a2
	1) a2+12a+36= a2+ 2∙a∙6+62=(a+6)2
2) -42a+ 9a2+49 = 9a2-42a+49=(3a+7)2
3) -4x2-12x-9 = -(4x2+12x+9) = -(2x+3)2
4) *  + 56a +49= * +2∙7∙ 4a + 72 = (4a)2+56a+49       
       * = 16a2

	Применение

	

	Вычисления
	Упрощения
	Уравнения
	Вычисления
	Сравнение

	1) 612=(60+1)2= 602+120+1=
    = 3600+121=

    = 3721

2) 1992 =(200-1)2 = 2002-400+1 = =40000-400+1 =39601
	1) 3(4a-1)2=3(16a2-8a+1) =48a2-24a+3
2) (a+2)(a-1)2 = (a+2)(a2-
    -2a+1) =a3-2a2+a+2a2-
     -4a+2= a3-3a+2

3) 10ab-4(2a-b)2+6b2 = =10ab-4(4a2-4ab+b2)+ + 6b2=10ab-16a2+16ab -4b2+6b2 =26ab-16a2+ +2b2
4) (-a+b)(b-a)= (b-a)(b-a) = =(b-a)2=b2-2ab+a2
5) (x+y)(-x-y) = 
    -(x+y) (x+y) =- (x+y)2 = -x2-2xy-y2
6) (x-y)(y-x)=-(y-x)(y-x) = -(y-x)2=-y2+2xy-x2
	1) 9x(x+6)-(3x+1)2=1
9x2+54x-(9x2+6x+1)=1

  9x2+54x-9x2-6x-1=1

       48x =1+1

       48x = 2
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2) 9+6x+x2 = 0

    (3+x)2=0

      3+x = 0

       x = -3 
	4x2-20x+25 = (2x)2-2∙2x∙5+52 =  

 = (2x-5)2
     Если x=-2, то (2∙ (-2)-5)2 =

     = (-4-5)2=(-9)2=81
	1) x2+10 >0, 
    т.к. x2 ≥0, 10>0
2) -2x2-5 <0, 
     т.к. -2x2 ≤0, -5<0

3) x2-16x+64 и 0

    (x-8)2  ≥ 0

4) -x2-4x-4    и  0

    - (x2+4x+4)  и  0

    - (x+2)2 ≤ 0
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